
7KH�3DWHQW�2IILFH�-RXUQDO�1R����������'DWHG�����������������������������������������������������

�����3$7(17�$33/,&$7,21�38%/,&$7,21 �����$SSOLFDWLRQ�1R��������������$

�����,1',$�

�����'DWH�RI ILOLQJ�RI�$SSOLFDWLRQ������������ �����3XEOLFDWLRQ�'DWH�������������

�����7LWOH�RI�WKH�LQYHQWLRQ���$1�$33$5$786�)25�&+(&.,1*�385,7<�2)�3(752/

�����,QWHUQDWLRQDO�FODVVLILFDWLRQ� �*��1�����
�����3ULRULW\�'RFXPHQW�1R� �1$
�����3ULRULW\�'DWH� �1$
�����1DPH�RI�SULRULW\�FRXQWU\� �1$
�����,QWHUQDWLRQDO�$SSOLFDWLRQ�1R

)LOLQJ�'DWH�
�1$
�1$

�����,QWHUQDWLRQDO�3XEOLFDWLRQ�1R� ��1$�
�����3DWHQW�RI�$GGLWLRQ�WR�$SSOLFDWLRQ�1XPEHU�

)LOLQJ�'DWH
�1$
�1$

�����'LYLVLRQDO�WR�$SSOLFDWLRQ�1XPEHU
)LOLQJ�'DWH

�1$
�1$

����1DPH�RI�$SSOLFDQW���
��&+,7.$5$�81,9(56,7<
$GGUHVV�RI�$SSOLFDQW��&KLWNDUD�8QLYHUVLW\��&KDQGLJDUK�3DWLDOD�

1DWLRQDO�+LJKZD\��1+������7HKVLO�5DMSXUD��'LVWULFW�3DWLDOD��
3XQMDE��,QGLD���������(PDLO�GLUHFWRU#FKLWNDUD�HGX�LQ�/DQGOLQH�
1R��������������3XQMDE�,QGLD
����1DPH�RI�,QYHQWRU��
��6,1*+�0$102+$1
��6,1*/$�0(+8/
��6+$50$�(6+,7$

�����$EVWUDFW��
7KH�SUHVHQW�GLVFORVXUH�SURYLGHV�DQ�DSSDUDWXV�IRU�FKHFNLQJ�SXULW\�RI�SHWURO��7KH�GLVFORVHG�DSSDUDWXV�FRPSULVHV� D�FRQWDLQHU�WR�UHFHLYH�
DQG�KROG�D�VDPSOH�RI�SHWURO��DQG�D�VHW�RI�VHQVRUV�RSHUDWLYHO\�FRXSOHG�WR�WKH�FRQWDLQHU��WKH�VHW�RI�VHQVRUV�FRQILJXUHG�WR�GHWHFW�
WHPSHUDWXUH�RI�VDLG�VDPSOH��ZKHUHLQ��EDVHG�RQ�FRPSDULVRQ�RI�GHWHFWHG�WHPSHUDWXUH�ZLWK�D�SUH�GHILQHG�YDOXH�RI�WHPSHUDWXUH��D�FRQWURO�
XQLW�LV�FRQILJXUHG�WR�HQDEOH�DVVHVVPHQW�RI�SXULW\�RI�WKH�VDPSOH�RI�SHWURO�

1R��RI�3DJHV����� 1R��RI�&ODLPV����


